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1. A two digit decimal number requires 

........................ for representation in the 

conventional BCD format. 

(A) 2 bits 

(B) 4 bits 

(C) 8 bits 

(D) 12 bits 

2. The expression Y = (X + Y)(Y + Z) 

(X + Z) shows the ..................... 

operation. 

(A) AND 

(B) POS 

(C) SOP 

(D) NAND 

3. CMOS refers to ..................... . 

(A) Centred Metal Oxide 

Semiconductor 

(B) Concrete Metal Oxide 

Semiconductor 

(C) Continuous Metal Oxide 

Semiconductor 

(D) Complementary Metal Oxide 

Semiconductor 

4. Which of the following circuit can be 

used as parallel to serial converter ? 

(A) Multiplexer 

(B) Demultiplexer 

(C) Decoder 

(D) Digital counter 

5. T flip-flop is used as ......................... . 

(A) Transfer data circuit 

(B) Toggle switch 

(C) Time delay switch 

(D) None of the above 

6. The characteristics equation of J-K flip-

flop is .................... . 

(A) J + K'Qn 

(B) JQn' + K'Qn 

(C) J' + KQn 

(D) J'K' + KQn 

7. When does a positive level triggered flip-

flop in Digital Electronics changes its 

state ? 

(A) When the clock is negative 

(B) When the clock is positive 

(C) When the inputs are all zero 

(D) When the inputs are all one 

8. How much locations an 4-bit address 

code can select in memory ? 

(A) 8 locations 

(B) 16 locations 

(C) 256 locations 

(D) 65, 536 locations 
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9. Why antifuses are implemented in a  

PLD ? 

(A) To protect from high voltage 

(B) To increase the memory 

(C) To implement the programmes 

(D) As a switching devices 

10. The minimum number of flip-flops that 

can be used to construct a modulus-7 

counter is ..................... . 

(A) 3 

(B) 7 

(C) 8 

(D) 10 

11. The parameter through which 8 distinct 

values can be represented is known as 

..................... . 

(A) Bit 

(B) Byte 

(C) Word 

(D) Nibble 

12. The largest four digit hexadecimal 

number is ..................... . 

(A) (FFEE) 16 

(B) (FFDD)16 

(C) (FFFF)16 

(D) (EEFF)16 

13. The quantity of quad word is ............ . 

(A) 64 bits 

(B) 32 bits 

(C) 16 bits 

(D) 8 bits 

14. Perform binary addition : 110011 + 

101010 = ? 

(A) 011010 

(B) 1010100 

(C) 100110 

(D) 1011101 

15. The given hexadecimal number (2F.67)16 

is equivalent to ..................... . 

(A) (57.316)8 

(B) (55.246)8 

(C) (57.340)8 

(D) (55.599)8 

16. The total storage capacity of 2K * 8 

ROM is ...................... . 

(A) 8 bits 

(B) 16 bits 

(C) 1024 bits 

(D) 2048 bits 
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17. On binary multiplication of (01.01) and 

(10.10), we get ....................... . 

(A) 101.0010 

(B) 0010.101 

(C) 011.0010 

(D) 110.0011 

18. 2’s complement of 10101010 is 

.......................... . 

(A) 01010110 

(B) 11010100 

(C) 11100010 

(D) 00110101 

19. Perform binary subtraction : 111011 – 

101110 = ? 

(A) 100100 

(B) 010101 

(C) 001101 

(D) 011001 

20. Representation of hexadecimal number 

(F6C)H in decimal : 

(A) 15 * 16
2
 + 6 * 16¹ + 12 * 16⁰ 

(B) 12 * 16² + 6 * 16¹ + 15 * 16
0
 

(C) 14 * 16
2
 + 6 * 16¹ + 12 * 16

0
 

(D) 15 * 16
2
 + 6 * 16¹ + 14 * 16

0
 

21. 1’s complement can be easily obtained 

by using ....................... . 

(A) Adder 

(B) Comparator 

(C) Inverter 

(D) Subtractor 

22. The decimal equivalent of the binary 

number (1110.011)2 is ....................... . 

(A) (11.175)10 

(B) (14.375)10 

(C) (12.175)10 

(D) (14.275)10 

23. There are .................... Minterms for 4 

variables (a, b, c, d). 

(A) 4 

(B) 8 

(C) 16 

(D) 32 

24. How many two-input AND and OR gates 

are required to realize Y = AB + CD + E ? 

(A) 2, 2 

(B) 3, 2 

(C) 3, 3 

(D) 2, 3 
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25. A 3-bit counter has a maximum modulus 

of ...................... . 

(A) 3 

(B) 6 

(C) 8 

(D) 16 

26. A flip-flop stores ........................ . 

(A) 2 bit of information 

(B) 4 bit of information 

(C) 1 bit of information 

(D) 3-bit information 

27. Which of the following best describes 

EEPROMs ? 

(A) EEPROMs can be programmed 

only once 

(B) EEPROMs can be erased by UV 

(C) EEPROMs can be erased by 

shorting all inputs to the ground 

(D) EEPROMs can be erased 

electrically 

28. Ripple counters are ...................... . 

(A) Synchronous counters 

(B) Asynchronous counters 

(C) True binary counters 

(D) Synchronous and true binary 

counters 

29. What will be the output from a D flip-

flop if D = 1 and the clock is low ? 

(A) 1 

(B) 0 

(C) No change 

(D) Toggle between 0 and 1 

30. In a J-K flip-flop, if J = K the resulting 

flip-flop is referred to as ...................... . 

(A) T flip-flop 

(B) S-K flip-flop 

(C) D flip-flop 

(D) S-R flip-flop 

31. Exclusive-NOR (Ex-NOR) logic gates 

can be constructed from what other logic 

gates ? 

(A) OR gates only 

(B) OR gates and NOT gates 

(C) AND gates and NOT gates 

(D) AND gates, OR gates, and NOT 

gates 

32. The logical product of two or more 

logical sum terms is called ..................... . 

(A) SOP 

(B) POS 

(C) OR operation 

(D) NAND operation 
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33. There are .................. cells in a 3-variable 

K-map. 

(A) 12 

(B) 16 

(C) 6 

(D) 8 

34. A full subtractor logic circuit will have 

................. . 

(A) Three inputs and two outputs 

(B) Three inputs and three outputs 

(C) Two inputs and two outputs 

(D) Two inputs and one output 

35. DeMorgan’s theorem states that 

.................... . 

(A) (A + B)' = A' * B' 

(B) (A + B)' = A' * B 

(C) A' + B' = A'B' 

(D) (AB)' = A' + B 

36. AT flip-flop can be constructed from a 

...................... flip-flop. 

(A) S-R 

(B) J-K 

(C) D 

(D) S-K 

37. The terminal count of a typical modulus-

12 binary counter is ...................... . 

(A) 0000 

(B) 1010 

(C) 1011 

(D) 1111 

38. Which A/D converter is considered to be 

simplest, fastest and most expensive ? 

(A) Flash type ADC 

(B) Servo converter 

(C) Counter type ADC 

(D) All of the mentioned 

39. PLA contains ...................... . 

(A) NOR and OR arrays 

(B) NOT and OR arrays 

(C) NAND and NOT arrays 

(D) AND and OR arrays 

40. The given hexadecimal number (E9)16 is 

equivalent to ..................... Gray Code. 

(A) 10011101 

(B) 11001001 

(C) 10101010 

(D) 11011111 

41. RAMs are utilized in the computer  

as ................ . 

(A) Scratch-pad 

(B) Main memory 

(C) Buffer 

(D) All of the Mentioned 
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42. Drawback of counter type A/D converter : 

(A) Counter reset automatically 

(B) Low speed 

(C) High conversion time 

(D) More complex 

43. The full form of EPROM is ................... . 

(A) Electrically Programmable ROMs 

(B) Erasable Programming ROMS 

(C) Erasable Programmable ROMs 

(D) Erasable Programmed ROMs 

44. The radix of a octal number system  

is ........................ . 

(A) 2 

(B) 8 

(C) 10 

(D) 16 

45. If A and B are the inputs of a half adder, 

the carry is given by ........................ . 

(A) A AND B 

(B) A OR B 

(C) A XOR B 

(D) A EX-NOR B 

46. A minimum of .......................... parity 

bits are required for generating Hamming 

code for 8421 code. 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

47. Gray code is a ....................... . 

(A) Standard 

(B) Universal 

(C) Weighted 

(D) Non-weighted 

48. Schottky TTL has .....................  

propogation delay time than TTL. 

(A) Lower 

(B) Higher 

(C) Zero 

(D) None of the above 

49. In a J-K flip flop if J = K = 1, its Q 

output will be ........................ when a 

clock pluse is applied. 

(A) Reset 

(B) Set 

(C) Compliment 

(D) Unchange 
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50. The design of an ALU is based  

on ........................ . 

(A) Sequential logic 

(B) De-Multiplexing 

(C) Multiplexing 

(D) Combinational logic 

51. The output of a full adder is same as 

.................... . 

(A) Decoder 

(B) Full subtractor 

(C) Half subtractor 

(D) Half adder 

52. The following switching functions are to 

be implemented using a decoder : 

f1 =  m(1, 3, 4, 8, 10) and 

f2 =  m(2, 4, 5, 9, 11, 14) 

The minimum configuration of decoder 

will be ........................ . 

(A) 2 to 4 line 

(B) 3 to 8 line 

(C) 4 to 16 line 

(D) 5 to 32 line 

53. Fan-in and Fan-out are the characteristics 

of ....................... . 

(A) Counters 

(B) Combinational Circuits 

(C) Sequential Circuits 

(D) Logic families 

54. All logic operations can be obtained by 

means of ........................ . 

(A) NAND and NOR operations 

(B) AND and OR operations 

(C) OR and NOT operations 

(D) AND and NOT operations 

55. The number of bits required to represent 

25 in BCD is ....................... . 

(A) 4 

(B) 8 

(C) 12 

(D) 16 

56. Master-slave configuration is used in a  

J-K flip-flop to eliminate ....................... . 

(A) Race around condition 

(B) Set condition 

(C) Reset condition 

(D) Compliment condition 
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57. Registers can be designed using .............. 

(A) Counter 

(B) Decoder 

(C) Flip-flop 

(D) Encoder 

58. The speed of an asynchronous counter is 

....................... than that of a synchronous 

counter. 

(A) Less 

(B) Greater 

(C) Equal 

(D) None of the above 

59. A dynamic RAM is fabricated using 

.................... technology. 

(A) TTL 

(B) MOS 

(C) DTL 

(D) None of the above 

60. If A, B and C are the inputs of a full 

adder then the carry is given  

by ...................... . 

(A) A AND B OR (A OR B) AND C 

(B) A OR B OR (A AND B) C 

(C) (A AND B) OR (A AND B)C 

(D) A XOR B XOR (A XOR B)  

AND C 

61. DRAM stores single bit by using .......... . 

(A) Transistor 

(B) Capacitor 

(C) Both (A) and (B) 

(D) None of the above 

62. The components used in DTL logic  

are ........................ . 

(A) Diode, transistor 

(B) Diode, resistor 

(C) Diode, transistor, resistor 

(D) None of the above 

63. The group of flip-flops is also known  

as .......................... . 

(A) Registers 

(B) Decoders 

(C) Encoders 

(D) None of the above 

64. The output of the multiplexer depends on 

its ...................... . 

(A) Data outputs 

(B) Data inputs 

(C) Selected inputs 

(D) None of the above 



B140804T ( 11 )  Set-A 

65. The output of the sequential circuit 

depends on ................... . 

(A) Present input 

(B) Present input and present state 

(C) Present state 

(D) None of the above 

66. The Field Effect Transistor is 

....................... device. 

(A) Single terminal device 

(B) Double terminal device 

(C) Three terminal device 

(D) None of the above 

67. What is the formula to obtain the number 

of parity bits ? 

(A) 2
P
 ≥ P + m + 1 

(B) 2
P
 ≥ P + m – 1 

(C) 2
P
 ≥ P – m – 1 

(D) None of the above 

68. The counter is used to count the number 

of ...................... . 

(A) Digits 

(B) Bits 

(C) Pulses 

(D) None of the above 

69. .................... comes under unipolar logic 

family. 

(A) PMOS 

(B) CMOS 

(C) NMOS 

(D) All of the above 

70. In the toggle mode, a JK flip-flop has : 

(A) J = 0, K = 1 

(B) J = 1, K = 1 

(C) J = 0, K = 0 

(D) J = 1, K = 0 

71. The inputs of a NAND gate are 

connected together. The resulting circuit 

is ...................... . 

(A) AND gate 

(B) OR gate 

(C) NOT gate 

(D) None of the above 
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72. Storage of 1 KB means the following 

number of bytes : 

(A) 1064 

(B) 1024 

(C) 1000 

(D) 924 

73. The time required for a gate to change its 

output is called as : 

(A) decay time 

(B) run time 

(C) propagation time 

(D) start time 

74. How many input and output required for 

demultiplexer ? 

(A) one input and many output 

(B) one input and one output 

(C) number of selection inputs and one 

output 

(D) None of the answers 

75. The parity is used to ....................... . 

(A) Increase the switching operation 

(B) Reduce switching operation 

(C) Detect errors 

(D) None of the above 

76. Which of the following is an invalid state 

in an 8421 binary coded decimal ? 

(A) 1001 

(B) 1101 

(C) 1000 

(D) 0100 

77. A three input NOR gate gives high 

output when ........................ . 

(A) One input is high 

(B) One input is low 

(C) All inputs are low 

(D) All inputs are high 

78. A decade counter requires .................. . 

(A) 4 flip-flop 

(B) 10 flip-flop 

(C) 2 flip-flop 

(D) 3 flip-flop 
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79. The binary equivalent of decimal number 

56 is .................. . 

(A) 101101 

(B) 110110 

(C) 101010 

(D) 111000 

80. Group of 4-bits forms ........................ . 

(A) Nibble 

(B) Byte 

(C) Gigabyte 

(D) Terabyte 

81. What is the octal equivalent of the binary 

number 10111101 ? 

(A) 675 

(B) 275 

(C) 572 

(D) 465 

82. An OR gate has 6 inputs. The number of 

input words in its truth table  

are ........................ . 

(A) 6 

(B) 32 

(C) 64 

(D) 128 

83. Excess-3 code is known as .................... . 

(A) Weighted code 

(B) Cyclic redundancy code 

(C) Self-complementing code 

(D) Algebraic code 

84. The NOR gate is OR gate followed  

by .......................... . 

(A) NOT gate 

(B) NAND gate 

(C) AND gate 

(D) None of the above 

85. How many NAND gates are used to form 

an AND gate ? 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

86. As the number of inputs increases, the 

NAND gate delay : 

(A) increases 

(B) decreases 

(C) does not vary 

(D) None of the above 
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87. Which gate is called as inequality 

detector ? 

(A) 2 input NAND gate 

(B) 2 input AND gate 

(C) 2 input XOR gate 

(D) 2 input XNOR gate 

88. What is the minimum number of 2 input 

NAND gate required to make a 2 input 

XOR gate ? 

(A) 5 

(B) 4 

(C) 3 

(D) 2 

89. An inverter gates can be developed  

using ....................... . 

(A) Two diodes 

(B) Resistance and capacitance 

(C) Transistor 

(D) Inductance and capacitance 

90. The octal equivalent of the decimal 

number (4174)10 is ..................... . 

(A) (641)8 

(B) (619)8 

(C) (640)8 

(D) (598)8 

91. On addition of +38 and -20 using 2’s 

compliment we get : 

(A) 11001100 

(B) 10101010 

(C) 00111011 

(D) 00010010 

92. (A + B) (A' · B') = ? 

(A) 1 

(B) 0 

(C) AB 

(D) AB' 

93. ....................... expressions can be 

implemented using 2-level NAND logic 

circuits. 

(A) POS 

(B) Literals 

(C) SOP 

(D) None of the above 

94. One that is not the outcome of Magnitude 

Comparator : 

(A) a > b 

(B) a – b 

(C) a < b 

(D) a = b 



B140804T ( 15 )  Set-A 

95. A combinational circuit that select one 

from many inputs are ......................... . 

(A) Encoder 

(B) Decoder 

(C) De-multiplexer 

(D) Multiplexer 

96. How many outputs will a decimal to 

BCD encoder have ? 

(A) 4 

(B) 8 

(C) 12 

(D) 16 

97. What is the difference between a  

shift-right register and a shift-left  

register ? 

(A) There is no difference 

(B) The direction of the shift 

(C) Propagation delay 

(D) The clock input 

98. Which one of the following is volatile in 

nature ? 

(A) ROM 

(B) EPROM 

(C) PROM 

(D) RAM 

99. A shift register in which the output of the 

last flip-flop is connected to the Input of 

the first flip-flop ? 

(A) Ring counter 

(B) BCD counter 

(C) Parallel counter 

(D) Ripple counter 

100. Which of the following is not a  

decoder ? 

(A) 4 to 2 

(B) 3 to 8 

(C) 4 to 16 

(D) 5 to 32 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the  correct 
answer and mark the same in the OMR 
Answer-Sheet as per the direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

lgh mŸkj Nk¡Vuk gSA mŸkj dks OMR vkUlj&’khV esa 

lEcfU/kr iz’u la[;k esa fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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